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1. Prove that f (x) = x’ is not continuous at x=0. Can one redefine
5x=0

f(0) so that f(x) is continuous at x=0? (10 43")

2. Provethat lim (1 + l] =e.(54)
n

3. Given :i—(éin x)=cosx and —Z—x(cos x)=-sinx, derive the formula:
j—(tanx) = se‘c2 x.(54)
dx

J: f(x)dx<

4. Prove that < [|£()|dx ifa<b (5 43)

5. Find the relative maxima and minima of f (x,3)=x*+3*-3x-12y +20.(5 43)

6. Show that the series whose nth term is

=n+1 —n diverges although limu, =0. (10 43)

& e (-1)" 2
7. Investigate the convergence of (a) Y n'e™ and (b)Z%—. (10.43)
; n=l1 h

n=1
n 1 '
lim) ————==7? (104
"‘*"“;Z;anz—kz (1059)

9. Compute tlze volume qf a solid generated by revolving the region bounded by the
graphsof y=x, y=x?, x=2,and x=5 about the x-axis. (10 53)

10. A company sells two products whose demand functions are. givenby x, =10-p,
and” x, =3-0.2p,. So, the revenue R =l DX, + pzxx2 . Compute the revenue if
x, varies between 0 and 3 and- x, varies between 0 and 2. (10 43)

11. Solve the differential equation % =Ilnx+xe* with y(1)=0.(104)

12. A graph satisfies the equation x’e” + xy —2e* + y? =2 =0. Find the slope of the

tangent line at the point (0, 2) of the graph. (10 43°)
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#2516 46 60 % B F 5832 % (Herzberg’s two-factor theory )
KAk ey B4t  (Porter’s value chain) -

JEE & %38 (informal communication)

e b/A B M+ %] (socialization / adaptive control )

# #% X 4245 (organic organization )

WaeE EME (Mayo’s Hawthorne study)

BBy i35 5% 32 3% (reinforcement theory ) .

+#4%E (Gantt chart)

R

=~ BER (fxae) ¢ ,
AW A SOREFHER () BRI o #AH 505 - FRBARBLERELLES L - T
F-BRARTERIRTE  BURXFRAGHL  BERTFHS -

I FEAEEMT EHTRMRL - LFEEEHRGA LB (A) B AM(Tgurehead) (B)
A5 3% F(leader)(C )| ¥ %:(entrepreneur)( D ){%.4% - (disseminator)( E ) & &éﬁiﬁ%‘(dlst\ubance

handler)

2. BEEFTHEA LGN A L TIEERESA é%(A)-&]&gﬁﬂrg'(dlsmrbance handler)
(B) ##|#(negotiator) (C) {#4% #(disseminator) (D) i##& A(liaison) (E) # £ A
(spokesperson)

3. %ﬁ%l@%%é‘}@i‘ﬁﬁﬁ%&@é: (A) #aae s (B) ABHAEED (C) Barseh (D)

BN T ERB T EEMBREFAEAN T '

4., """ﬁ%ﬁ‘éﬁﬁdii AWIE o FIMaEERL? (A) RE - a8~ AA 8 (B) ¥ -
AAS B &5 (C) RE 44 HHE - a8 (D) A8 - a8 24 (E)R
B> m - RE WA

5. MINMAEEME MEBE? (A) B FER Do the right thing (B) XA ALK HEA 7 (C)
FEREEFEEXE (D) BR2RH/HALEBAMHAE (E) REFIE

6. fTEBTHEEE2 R, ? (A)FH H45(Henry Grantt)(B) #5482 % $h(Frederick Taylor)
(C) ¥#| % & (Henri Fayol) (D) B #& #14(Max Weber) (E) B AR 8 /&
A7 2 #7(Frank Gilbreth and Lillian Gilbreth) (F) 3% & # R 45(Mary Follett) (G) &#4F &
#34&(Chester Barnard) (H) IR #4.4 (Elton Mayo) (I) #3485 &7 % (Abraham Maslow)
(J) @l 43 2 %(Douglas McGregor)

7. R LA 475555 80 8 % (therbligs) ?

REM  FIHEREFRBRHERL?

9. MMATHRERE > HAHE? (A) REAMAY E MG - B R Herbert Simon) - (B)
RETHARBFARE L - (C) RBBMARRLEMM - (D) BETEANME
BREGRTEEL - (B) RAEITHAZBREER -

10 MM BB T2 A ? (A) REF KA TR F ik A4 B a8 @i -
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1.

12.

13.

14.

15.

16. A7

17.

18.

19.

20.

21.

22.

23.

24.

AT~ BB RRATHER  RAAEA R B - (B) =AM A ¥ & (Mechanistic
Approach)JF ¥ B &M e e i F X o (C) & # & % (Organic Approach)dy il &4 ik 4438
MBI RBIE o (D) #5 A M35 #.85(Situational Approach) (E) Burns and Stalker & 3
T ey R EMALY -
MAMGA  AEAHZ? (A) HEMELEARAARITHABENEN (B) MAEAT
REEas e (C) 24 B ERAIMGANTLAREEN . (D) FELH T/ —
BRBAMGA  EEMeEREa%EE . (E) REFE
M mes 3B 3L > A TFATHAIE? (A) {ERE3ESE(Micro-Environment) & 15 # 48 45 84
BEAAEBAIFEESEEEE (B) BREBHNERGONEERNHE £ Bt
BRBERXBAHEERE KT RE - (C) AHEXBR2I FEEFDEHRAN
Fig e (D) BEH T4 FRISE MRS - BE B8FEF ¢ HAEHH -
B ARRAPBEMER - (BE) AoBaBRxit R EHEHTRRE -
A AEAFT X TiER (A) &F (B) BKX (C) #F3% (D) #5335 » FH— L A4
BBEwRARENFTX ) —BHRERA TERE L HASEE LA EATH?
ki RimasE (A) bk (B) TARE (C) BamEs (D) AREER 7
B AEERERALAE T
ke A A (A)#HE 84 A st {b(Bureaucratic Culture)( B) 5 45 & 4 b(Clan Culture)
(C) #)% £ & X {t(Entrepreneurial Culture) (D) 458 X {b(Market Culture) » 3% 474
é’]ﬁkéuﬁk%éﬁ«&‘?éﬁ BAR BRABAGEERRAR  LH8AEAE Faﬁﬁﬁbéﬁﬁ}‘*z
8 9?

| EH(ustice) » AR E4 (A) pERER (B) #FEHR (C) MMPER FMEFR
%4&51%3&&%?\&& » T LA AT ?
HEREFREEIZREG &%m%%&&%&%M%%’uTﬁ%%E9(A)%ﬂQ
(Milton Friedman) & 4t € & B R s R AP AR EMAY - (B) AEHRBRAEETEEGE
B EERERREABRBREAMNE - (C) REEEHRBRAHCEIHETREHZRZ
%&@iﬁ(D)ﬁ%%%%%%ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁi%&%ﬂ%(E)mi%ﬁ%
REEEHGKRET RS S (A) et (B) Bk (C) RERH - HREMARS - 7T
ﬁﬁﬁfﬁ.éﬁ%{&?f% REFERATHRERPRAAEBS T F‘iﬁﬁﬁi%ﬁ?fﬁfﬁmﬁ‘b‘ﬁﬁ_
FRHHE o FHPFRIMTEARKE?
miﬁ%‘fﬁﬁﬂiﬁk&ﬁ FRANFEZMEAL (A BHAAEB) BRSO YE M PR
ELBRER R BB HEEEAGHEGRYE LR EFELSRATAL Y
W ERE > RMSEEHMAE? (A) ade)n B (B) EXshausiédih (C) JEERM
sk ssk: (D) B2 5480844 (BE) A& feiax
RORSHEFRAERYEHEERAMLEETME  MMTHFAEL ? (A) B&BNHEE
AGREAR  HIEEA (B) A@W PR T NA LM EHBER (C) B
TAEFARARM SR EAK (D) B e BHBERK (BE) AR R
355 18 B AR
M al T mELAE? (A) BRERZRABaGRMES (B) §RMEBETE —Ma
MRARSEAES A A RAEENBE - (C) LR TRELNE  REATAKFTH (D)
— B gL F b kA (BE) S L8R E B
MRFREZERAETIEEERBERGFT K 0 (A) =#HHE (B) =Xk (C) —T—’VF%'Z X
1t o SBT3 iz A5 eh 3 B Sh TR o B T B AR BRI ?
AR 4B 4% 4 3 HUAE B Bl ¢ (A) mEl (B) 4t Z B (C)#E (D) 2R X (E)
Ao (F) 28 (G) «ﬁilﬁi » B P4 A R A im (Kurt Lewin)pi g6 2 M R B F ik ?
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- 25.

26.

27.
28.
29,
30.
31
32.

33.

34,

3s.

36.

37.

AR E ST IGAE R &Eﬁfi%ﬁﬁgiﬁﬂaﬁﬂ TR (A) T5HBE (B) L L3 (C)

EaEE (D) Y%‘fb .

BF A 0 B R Hol L35 (A) *ﬁé@ﬁﬁ(B)ﬂf???‘i(C)@ MREXLD)FHHERE S =F

éﬁvfﬂ%"‘?ﬁxa(F)@i& IR BBIGEE I H R IEGE FARLEIRAEE T A%k
HRERBATE 7

%J‘—:t«ﬁiéﬁ?ff & (A) ﬁ?%ﬁlﬁ!ﬁ(B)%E%H%;%J’T(C)/\$&?ié*(D)*ﬁE&(E)F%ﬁI-E%’

HRRAH g RBTE 7

A RIFGEF S a3 %zﬁ&ﬁ?ﬁ@«%@bé‘}(mf‘ BB E » R ERABELE —BEL

BRTR—HBEZRNGEREGHEY?

FRAFTELR (A EBRFH é‘H(B)/ﬂ'J%ﬁ(C)ﬁ‘ HRR(D) @R E)F FRET)RR

MEREREHA S LA TIERGR TR E AR EATH?

B PREH HRSFEHE (A B EGBRBEMERC) A 6% RERIEH KRS

B3 eyt > WA B R e B B45 » SR B EfTE ?

T RSME R T olskeg F X (AREFIZB)P A LEOBRBIRD) 838 > FHR A

# & #4235 3| 8 (on-the-job training) ?

AT A SBBEERIFEG T X D (ATBRYE BB EXC)MEFHE2D) B A& E

R EVMTHEHITEFEEERE)I60 Bt HRR LM HFRBREFROEL LT ET

MAERERER THMEMEAE? (A) HHABEEFEREE (B) XERSE £it4s

FHHRE AR RE-BENER (C) AR EZER=ZR (D) 4B FREE—F

(E) A LEHE G EH#

MR FE2R > FHAHHR? (A) TAERRLENEBB T (B) ABRMARR®

BEEF (C) WBEFRIERSEEMN (D) 4%4:%@%@1@:%&%3& (E) 4B

IHRHRYBERRSL  BIRERIBRE -

TR RGNS ERBFHEENME - FH e CERITINRATAF

ERBWHR—FEHE? (A) BIEMR (B) BxtLE (C) Hrm (D) €&tk (E)

k%I ‘ .

MARE ST HER (A EREARENAEB)E GRAL A R(OBEZ MM LRSS

ROD)EFEFHFRE)LMX Zily o FRMTHREAFITATHNE R4 RERKIEZSE

BE?

EERFEERT > ZHEBRAWEGAETERAS  (ABRERB)EFHEC)FHAUDO)HE K

 BESHREED  FRREO, DEHRLTH T

38.
39.

40.
41,
42,
43,

44,

AR EAR 0 R E(9, 9B A S EATH?

MAR S e HE 4328 1 (A) A 84T %—3:%%& wIZwB)EBY R A (CO)E — B FBD)VAY
#—- 4 RBREMFBASER  FHTESE TERASRGX R FER, ?

ARLEA BRI HE AL ié&fir% ?

M E AR X o FPHAIE 2 (A% Paul Hersey #1 Kenneth Blanchard 3% i #9(B)R3
PB4 AR S (ORI AT E5EH — KM% e948 55 D) R2 ek R ik
AR B (E)uh k3% 78 % E Ak

AT REZMBAAENRE (AR XEE@EAXAFTOmMERAE  HRmERAER
FEBREFRZAAENTERETH FEANEEERFHRBEHETRBALNEN?
#ﬁé‘ziﬁfﬁﬁl R (AN EBEBGEHEARC E B EERKRD)EHER %(E))?zé%%@
B S RBMTETEAERE AR B R S ARE PR S BE R T AT R 7

E] I%»%%&%ﬁ@f‘ SEE 1 (A) RIS B (B2 1 B (C) MR My £ (D) 4 M #2(E) MM o
FREMEE BRBRANBRERTEOMG  RBCRRAEREN ?
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5. FROBEHERT  (AALHERBALRERORBERDOEALA 66985 % » 3FHH
LEFER-F THFIXRF—F  HBERZHNREALHRE?
46. MM R GG R IE » F 4R E E % (A R 1R 430 26(B) 7 R 649 ABEM RO E R
BEBREE  HRMTHEERGERAHABAEH » MEFRTRER?
47. FRAYZF (A AREFBHRA(C)4hED)FEHE)FHAFAEAF) RS (G) 24 » FHMMTH
REBRE—ERME R NE LRSS HEHRK?

48. FEEBHEY  (ABRKB)Y ROEXDBXE)EFEX » FRTHAAERBEHRT
B EEFRBFR? ' :
49. iR RTFEEAE2A)TEAEZRE BB R AR HEEMRER AL EEZC)

FRBERTREGR—F 2R PERBREE/TEHD)/ N 48816 @ kB IE E X 8 AL
HAFEREER L BEERANS
50, #F W BB AT ARARSR A AT F sb B AT 478 2 (A)FATE RIB)F b 41(C)F A= H

= B (3xME)

AU 1S MEEE (FE) 0 B2 0 £330 4 FRARBERFLEFLL -
FoRRARTEREFE WRELATHL BERELOEE ERAXTRIEAE
LH R

Case ]

Imagine that you are the president of AAA Co., a new and successful chain of 100 fast-food
restaurants. The success you have experienced in the last 5 years has you thinking of what to do
with the business next. Should you expand the business at the current rate? Open new and different

restaurants? What?

1. You decide to concentrate on AAA Co.’s primary business by only increasing the menu to
include new items such as enchiladas and rice bowls. This is an example of what type of growth
strategy?

(a) quality improvement  (b) new-product development  (c) retrenchment

(d) diversification
2. Your oldest supplier, Zorro Distributors, is a small family-owned firm. Recently, the firm’s

president; Mike, made the decision to retire. To his disappointment, none of his five children
stepped forward to take his place at the helm of the firm. Mike is concerned that if he sells his
company to a larger distributor, many of his employees will lose their jobs. You approach your
old friend with a generous offer to buy Zorro and continue its current operations. Should your
offer be accepted, AAA Co. would be undertaking

(a) anew-product development

(b) amerger

(¢) an acquisition

(d) aretrenchment
3. Because of the good profits and a fear of growing too fast, you decide to keep AAA Co. in the
same business and do not change the menu. You hope to retain the same market share and
return-on-investment record. This is considered a _ strategy.

(a) stability (b) growth (¢) combination (d) diversification
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Case I1 - .
Paul Abdul Oil Corporation (PAOC) began as a relatively small oil company. However through the

years it has grown to become an international corporation.

4. As PAOC continues to grow, a highly trained group of managers and analysts has developed at
corporate headquarters. This group is highly adaptive in its structure. Members of this group do
not have standardized jobs, but are empowered to handle diverse job activities and problems.
This group of employees issaid tohavea(n) __~ structure. :

(a) simple (b) divisional (¢) functional (d) organic

5. A sharp rise in oil prices helped PAOC’s business expand. Abdul concluded that it was
impractical and inefficient for all decisions to continue flowing through his office. He granted
his key subordinates the authority and responsibility to manage others within their areas of
specialty. This organizational structure is best described as a structure.

(a) ~ simple functional (b) functional (c¢) divisional (d) matrix

6. To deal with the workload in an effective manner, PAOC’s executive management group
assigns specialists from the different functional departments to work on one or more work
groups that are led by project managers. This popular contemporary design is called a(n)

structure. -

(a) . matrix  (b) divisional  (c¢) functional -~ (d) organic

Case 111
Tom, a manager at a food processing plant, has not been receiving the information that he needs
from his current control system. By the time Tom receives the information, the activity has occurred
and there is nothing that can be done. Direct supervision is used extensively by supervisors on the
floor now, so some activities have been changed before they became costly mistakes. However,
Tom would like to do better. He would like to fix things before they break and anticipate more of
the problems that occur.
7. Which form of control would Tom like to use? .
(a) feedforward (b) concurrent  (c¢) feedback (d) management
8. Tom is currently using which form of control? ' ‘
(a) feedforward (b) concurrent. (c¢.) feedback (d) management
9. Direct supervision is the best-known form of . o '
(a) feedforward control (b) concurrent control (¢) feedback control

(d) management control

Case IV

Mary knew that in order to be an effective manager she needed to delegate, yet it was extremely
difficult for her. She was new to the organization and was unsure exactly what the delegation
process was and how to use it. There were seven layers in the organizational hierarchy; and she had
15 managers reporting to her. She knew delegation had to occur. Looking in the company handbook,
she noticed that for all decisions over $100,000, she needed her supervisor's appfoval. For
everything over $300,000, vice-presidential approval was needed. Many of the tasks her managers
were working on were very technical, and Mary was not sure if she had the expertise to make some
of the decisions about their work. However, she had a very competent group of people working for
her. Their skill level, education, experience, and motivation were superior. The final question in her
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mind was to determine what was acceptable in the organization. Management seemed to trust the
employees and place confidence in their decision-making. It was a point Mary still needed to check

out.
10. The dollar amounts for decision-making are an example of

(a) task complexity

(b) organizational cuiture
(¢) the size of the organization

(d) the importance of the duty or decision

11. The skill level, education, and experience of the employees falls under which contmgency factor
of delegation?

(a) qualities of the employees
(b) organizational culture
(c) the size of the organization

(d) the importance of the duty or decision ‘

12. The point that Mary is pondering concerning the organization’s attitude toward decision making
falls under which contingency factor?

(a) task complexity

(b) organizational culture

(¢) the size of the organization

(d) the importance of the duty or decision

Case V .
Jack and Susan are both managers at a medium-sized medical supply firm. Jack emphasizes to his
people that the work must be done, regardless of circumstances, and encourages his employees to
meet their sales quotas. He is generally liked, but because sales are unstructured, sometimes his
employees resent his rather heavy-handed approach. Susan has tried hard to build a good rapport
with her employees and knows each of their families. She encourages her employees to work hard,
but to be certain to take time for themselves and their families. )
13. Fiedler’s contingency model would classify Jack as oriented.

(a) Employee (_b ) organization (c) task (d) relationship

14. Fiedler’s contingency model would classify Susan as ' oriented.
(a) Employee (b) organization (c) task  (d) relationship

15. Fiedler would expect that the best leadership style was a function of
(a) leader-member relations, task structure, and position power

(b) formal authority, production process, and personality of employees
- (c¢) chain of command, relationships, and power '
(d) type of organization, personality of leader, and education of employees
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Z BB EE T 506 F I (Managing Diversity) ? 35 B G RAHN B F 0¥
ﬁ€’§mmsﬁTﬁ%9 R G PAT IR § AACE T HE A AL ? (12.5%)

I LEEREA T EE AL ERAE (200 TEMATEA].IA) » BRALES
HWEARFTEOTREHREEESL ¥ phmipa? (12.5%)

W EERTEFRAL > HESMARE - HeF (BF) 0EfPERZE - (125%)
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N ST T RIRAE - Rl B AR BRSNS

. SaARLEHAGREHRN  GHLRBEHRE £33 o /3% USA Today %L
(Gallup) 9 E  ERBARFYIALEE > RF 4%R LAY AERLE
%3 MM%EEETERERES o (10%)

2. MRBAAHEESESAN 20095 —EAA LB THHT  BREFEHRD 6239%
BEATEERARE FEHEE RG> "TETHHFT RAT 1997 F M
& > FRBE+ZFATAKE - (10%)

3. RIFAEIFAH (2010 ) A& EIE 64 65 RR E&EAMBBRA T 10.63% »
10 FMmT 2.19% ¢ K& 15 RAHFATLEQEER 16.349% > 31 10 £RT
% 5.19% - & Eef# (EFAT/YBFATZFESL) EEHERNBER B
65.0596 » 3§ 10 4[] #43% 25.659% ° (10%)
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1 R FAT
H, ' p=5; H, :u<5
4o R T X T 897 I(typelerror) sz &) 11 3% £ ((type Il error)ég #% & 4-%1 0=0.05 2 B=0.2» £+ B
Fp=n, =493 TAHRHBRGB I RLEAMRE - ToBFRFTEE 0=04 RRBHFEAK ] 0>
REEomPZER (10%)

2. BRI —ASBRANSTHHE  LBER2S MO BB B BH T RER &
—BHFRMME B BCAMME - MR G LEBBEHEE 125 U F XGHEE
Mo B 13 BRI L KRN - REAEREORE  BRFHLSBREOIH
B R T

7K 44‘ 44 156 (46 |47 |38 |58 |53 (49 |35 |46 |30 |41

R 135 (47 [55 |29 140 139 |32 141 |42 |57 |51 |39
() BRESBRELEZ A EEHE - WL 5%,&%%*%&%&;&%;%%&%@@
228 (8%) | "

(2) RBREARTER 1 SHEERERE  REFAMMEZ S HBENSTRTK
fHES ? (%) | “

3. BMARSQAELTAMES ETATRITRG » URRLSEYTH AR - L =HERE
Wt 15 ZRERGHHE B THAHEEHEH

A% HEE

20 7% 14 13 10 17 16
25 %, 10 8 5 12 1
30 7% 6 5 g T3 |11

(1)3& 3 ANOVA & > £0=005 T ' MEFRBCFERB2HEFAFTME - (10%)
(2)#1 A Bonforrini 7 i R4 % &7 Fl £ A% Fob F-3945 % F % 5 B % £ B(0=0.05)c AR
KGR FHBATZATRRMESZHEEFEAF o (10%)
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5. ERMABALLEMM T ZHGH L2038 LAKTFRER AR 25 A P&
H80H  RELAS I BHERI A PHRK 20 REES I CHEK0A P
MR8y AREE6 S HR)

(1) =3 R £ ey P34t st ne (5%)

Q) ZHRERGHEEH o (10%)

@) M—BEF B AR TEE | 2 (10%)

6. kRN AFAT L0 A HEHNRBEARBEFBRNIILIT ¢ -

HERE A% (©) FERAFE @)
5]
% (F) 25 15
A M) 45 15

D) #HEMTHEMHE PM]|C) (2%)

PC|P (3%) .
Q) HABMANAHKFTRERTLEM? (10%)
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